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Find each quotient. Draw a picture to help.
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=3, Caitlin, Christine, and Amanda equally shared % of a pie. What fraction of the whole pie did each friend

receive?
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Sal has zofa sheet of poster board. Four friends
- are sharing the sheet equally. What fraction of
the orlgmal sheet does each fnend get?

Practice 9-5

"1 Divide Unit

Fractions by
Non-Zero Whole

ki\!ua‘m@ers
Step1 Step2 Step3! .

Use a drawing.

Divide 1 whole sheet into
3 equal parts.

Shade to show Sal’ s =

Next divide each thlrd mto

4 equal parts.

€3] = €Of s t3]os

Count the total number
of parts. The total is the
denominator.

1 -«—— each friendspart
12 <— total number
of parts

So, each friend gets —5
of the original sheet,
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fourth of a pie that was left over. What
fraction of the original pie did each friend
get? Use the picture to help you find the
solution. ‘

13.

Higher Order Thlnkmg Eve and Gerard
each have 3 1 of a poster to paint. Eve

* divided her half into 6 equal sections. She

‘painted one section blue. Gerard divided

" 14. Number Sense What are two decimals

whose product is close to 107

his half into 5 equal sections. He painted
one section blue. Whose blue section is
larger? Explain.

15.

2x3

17.

142

Use Structure Without multiplying,
order the following products from least
to greatest.
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X
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3 2,3
X5 15X3
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16. Tom plans to replace arectangular piece
of drywall. Find the area of the piece of
drywall that Tom needs to replace.

'16ha

Mrs. Sims cut a melon into fifths. She gave
1 piece to each of her four children. She
used equal amounts of the leftover melon
to make three fruit cups. What fraction of
the original melon did she use to make
each fruit cup? '
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18. Steven has % of a package of biscylit mix
left. He will use equal parts of the leftover
mix to make three batches of biscuits.
'What fraction of the original package will
he use for each batch?

® 3
® 1
© 3
® 3
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Find each quotient. Use a diagram or number line to help.

L. 1.
1. 5 2 2. 5 4
3 During a hike, 3 friends share % pound of trail mix. What amount of trail mix will each friend receive?
1
a. -
6 — -
b. 2 ..
2
c 3 z
2
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8 equal parts to represent 8 wholes,

Then use another color to divide each

“total number of fraction parts.

L
4

There are 32 small squares, so you know
that 8+ 1 =32,

First, draw a rectangle and divide it into Find—}l—+ 8.

of the 8 parts into fourths and countthe -

Dwade Whole
' Numbers and
Qj.ﬁmé'ﬁ Fractions

Think: the quotient times the
divisor must equal the dividend.

What times 8 equals %?

1 1

32 X8=7
1.0 1

50,4-.-8—-———'32.

1. 1.

_2_'—-'6 5. 5.2
1. .1
1, .1

=
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13. Cynthia has a plece ot wood that is 6 feet long.
She cuts it into %-—foot pieces. How many pieces : :
does she have? Use the number line to help you 0O 1 2 3 4 5 6
solve the problem. o ‘

14. Gregg has a coin collection album with 15. enVision® STEM Suppose a wind

275 pages. Each coin is displayed on turbine requires % square mile of land.
-;-ofa page. How many coins will fit in How many turbines can be built on 8
the album? - square miles of land?

275 pages
?

v

? coins >

-;— page for each coin

16. Reasoning Meredith modeled a division
problem on the number line. What division ~<e===
problem did she model? Find the quotient. '

17. Higher Order Thinking Millie has 5 yards
of blue fabric and 7 yards of pink fabric. How
many quilt squares can she make with the
fabric she has if both colors are needed to
make one square? Explain your reasoning.

18. Cindy says that% + 12 = 3.Is she correct? (
If not, justify your reasoning and give the
correct quotient. '

© Pearson Education, Inc. 5

144 Topic9 | Lesson 9-6




T Ty o ay L

Exit Ticket Lesson 9-7

1. Debbie cut a cord into sixths. She used 5 of the pieces to make necklaces. She used equal amounts of the

remaining cord to make four bracelets. What fraction of the original cord did Debbie use to make bracelets?
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' AnothiepLooky — Practice 9-7
Nell participated in a 3-day charity walk. She | ’ So?ve Pr.o%.bﬁ:ems
C | sty Nellwaien Dmpershe walked The  Using Division

walked 8 miles. The third day, she walked 16 miles.
How much money did Nell raise? ‘

What do you know? Write an equation to answer each
' P o ‘question. @00

'Nell walked 12 miles, 8 miles, and 16 miles, :
a Whatis the total number of miles Nell

, . 1.

She rallsed $0.50 for each 3 mile she walked. walked?

What do you need to find? , Nell walked 12 + 8 + 16 =36, or
36 miles.

How much money Nell raised ‘
b How many% miles did Nell walk? .

Nell walked 36 + % = 108, or 108
one-third miles.

¢ How much money did Nell raise?
Nell raised 108 x $0.50 = $54.

1. Anna plants peas in % of her garden and herbs in % of it.
She divides the rest of the garden into 6 sections. What fraction
of the original garden is each section? '

Equations: _

Answer:

2. Ryan has 4 cups of grape juice, and Kelsey has 7 cups of
lemonade. They want to combine what they have to make
~ punch. How many ;—cup servings of punch can they make?

Equations:

Answer:

<= . : .
u!: GoOnline | PearsonRealize.com Topic 9 | Lesson 9-7 145



sy pUYY Lo, 4. \vles iecidiguiar garden nas an area

DR R % B e Nl N IJ\_IIJMIIIII

How many ——yar d-long bow ties can he of 54 square feet. What could be the
make if he has 18 feet of fabric? dimensions of the garden?

5. One batch of fruit punch contains% 6. Higher Order Thinking Ms. James has
quart grape juice and % quart apple juice. a 6-square-foot bulletin boardand a .
Colby makes 9 batches of fruit punch., 12-square-foot bulletin board. She wants
How much grape juice did he use for to cover both boards with index cards
9 batches? without gaps or overlaps. Each index card ;

has an area of - 7 Square foot, How many '
~-index cards does she: need7 S

7. Number Sense Craig has 36 ounces of 8. Doris uses 8 square pieces of fabric to
flour left in one bag and 64 ounces of make one scarf. Each sideofa’ square
flour in another bag. Use the Baking Flour piece of fabric is + 7 ! foot in length. Doris
Equivalents table to find how many cups can buy large pieces of fabric that are
of flour Craig has in all. ) —foot long and 2 feet wide. How many

large pieces of fabric should she buy to
make 7 scarves? Show your work.

9. Debbie cut a cord into sixths. She used five of
the pieces to make necklaces. She used equal
lengths of the remaining cord for each of four
bracelets. What fraction of the original cord did
Debbie use for each bracelet?
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Domain: Number and Operations in Base Ten:
Cluster: Understand the place value system.

Standards: Primary 5.NBT.1; Secondary 5.NBT.2

“| Spiral Notebook: 6-pack -

$7.59

Notebook Filler Paper: 500 Sheets -$7.79
Ballpoint Pens: 12-pack $7.49
Mechanical Pencils: 12-pack $4.99
:ﬁ'ij';‘,f: Solar Calculator $14.99

| Laptop Computer

$199.99

| Jeans

$29.58

Blouse

$17.61

Shoes

$38.72

| Backpack

$25.98

- Water Bottle

$12.82
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vel g - Mathematics: Rehearsing and Exploring the Standards

Mbdeled Instruction

H The prices of the jeans and backpack include the same digits but some of them are in
different places within the numbers. Compare the place value of the digits 5 and 9 in
both numbers. '

Solution:

You can use the 5-Step Method to solve this problem:

q
' %Tgpl' IDENTIFY: What are you being asked to find?
. o4

You are being asked to compare the place value of the digits 5 and 9 in both
numbers for the prices of jeans and a backpack.

'”“,’Z FIND: What do you need to solve the problem?

e The jeans cost $29.58.
* The backpack costs $25.98.

R 3 CHOOSE: How will you solve the j)roblem?

You can solve this problem by finding the place value of the 5 and 9 in each
number. Then compare the values. -

S,TEP4' SOLVE: Solve the problem.

Value of 9: . Value of 5:
. _I?r_i‘_c_g__ojng_qns: 9 __® Price of jeans:_ 0.5

* Price of backpack: 0.9 * Price of backpack: 5

The 5 in the price of the jeans is un the value of the 5 in the price
10
of the backpack.

- wﬁ CHECK and JUSTIFY: Check and justify your answer.

Use a place-value chart to compare the values in the ones place for each item
and the tenths place for each item. '

LY!’EDUCATION. No part of this document may be reproduced without written permission from the publisher. 53




3 How many dimes would it take to represent the value of the 9 in the price of the jeans
and in the price of the backpack? Explain your answer.

§ How rmany dimes would it take to represent the value of the 5 in the price of the jeans
and in the price of the backpack? Explain your answer.

5 Write down the price of the laptop computer.

PartA Write down the number of pennies it would take to represent the 9 in the
hundredths place, in the tenths place, in the ones place, and in the tens place.
What does this tell you about the relationship between the digits in the
number as you move to the right or left?

Part B How many times greater is the 9 in the tens place compared to the 9 in the
' hundredths place? If possible, write your answer in exponential form. Explain
how you got your answer.

54 ©RALLY! EDUCATION. No part of this document may be reproduced without written permission from the publis
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Mathematics: Rehearsing and Exploring the Standards

,"'
[3 There are two 7s in the price of the notebook filler paper. Jessica says the 7 on the
right is 7%— the value of the 7 on the left. Reginald says the 7 on the right is
10 times the value of the 7 on the left. Who is correct? Explain your answer.

[J There are two 2s in the price of the water bottle. Caroline says the 2 on the left is 10
times the value of the 2 on the right. Chantelle says the 2 on the left is 100 times the
value of the 2 on the right. Who is correct? Explain your answer.

A sprinter ran a race in 11.31 seconds. How many times greater is the 1 in the tens
place than the 1 in the hundredths place? ‘

A 10 times greater

B 100 times greater

€ 1,000 times greater
D™T10;000 times greater——-—

55
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- "¢ Mathematics: Rehearsing and Exploring the Standards

11 A hard-cover book costs $27.97. What is the relationship between the two 7s in the

price of the book?

A The 7 in the hundredths place is —1—(13—0— the value of the 7 in the ones place.
B The 7 in the ones place is TJ(S—(; the value of the 7vin the ones place.

€ The 7 in the hundrediths place is 100 times the value of the 7 in the ones place: ==~~~ _

D The 7 in the ones place is 100 times the value of the 7 in the hundredths place.

. °) Margo kept track of the number of miles she drove on her trip. She drove a total of

56

2,487 miles. Which number Qf miles has a digit in the tens place that is —1% the value
of the digit in the hundreds place in the number of miles Margo drove?

A 2,945 miles

B 4,287 miles

€ 6,954 miles

D 7,428 miles

©RALLY! EDUCATION. No part of this document may be reproduced without written permission from the publisha
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Mathematics: Rehearsing and Exploring the Standards

Lesson 7

Domain: Number and Operations in Base Ten
Cluster: Understand the place value system.
Standards: Primary 5. NBTZ, Secondary 5.NBT.1

Sackgm&nd information:

Smce SIZES of objects and distances in space are so great, powers of 10 are often used

to represent these measures

Mercury 3.0 x 103 36,000,000

Venus 7.5x103 67,000,000

Earth 8.0 x 107 93,000,000

Mars 4.2 x 103 140,000,000

Jupiter 8.9 x 104 480,000,000

Saturn 7.5 x10% 890,000,000
Uranus 3.2x 104 1,800,000,000
Neptune 3.1 x 104 2,800,000,000

o101 BatE T 86 %103 e -
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Modeled Instruction

8 |n the table, the approximate diameters of the Sun, Mars, and Saturn are listed using
different powers of 10.

Part A Write the approximate diameter of the Sun, Mars, and Saturn in standard form.
Then, order the numbers from least to greatest.

“Solution:
You can use the 5-Step Method to solve this problem:A

: sm.l IDENTIFY: What are you being asked to find?

You are being asked to write the approximate diameter of the Sun, Mars,
and Saturn in standard form, and order the numbers from least to greatest.

: _W‘Z 'FIND: What do you need to solve the problem?
¢ The diameter of the sun is about 8.6 x 10° miles.
e The diameter of Mars is about 4.2 x 103 miles.

e The diameter of Saturn is about 7.5 x 104 miles.

: 5@3- 'CHOOSE: How will you solve the problem?A

First, write each number in standard form by mulfiplying. The exponent of
10 tells you how many places to move the decimal. ' o

Next, use place value to order the numbers from least to greatest.

58 ©RALLY! EDUCATION. No part of this document may be reproduced without written permission from the publis!;




e - - Mathematics: Rehearsing and Exploring the Standards

:mp4 SOLVE: Solve the problem.
Sun: 8.6 x 10° = 860,000 miles
Mars: 4.2 x 103 = 4,200 miles
Saturn: 7.5 x 104 = 75,000 miles
Ordered least to greatest: 4,200 miies, 75,000 miles, 860,000 miles

Move the decimal digits to the left the same number of places as the
exponent because it represents the number of times the decimal is
multiplied by 10.

™3 CHECK and JUSTIFY: Check and justify your answer

Check your answer by working backwards. Convert your answer written in
standard form back to forms with a power to 10.

860,000 = 8.6 x 105

4,200=4.2 x 103

75,000=7.5 X 104

EDUCATION. No part of this document may be reproduced without written permission from the publisher. 59




Part B

: .5.75!’1

| ST Z .

) __5TEP3
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STEP 5

Could you have ordered the diameters from least to greatest by ordering the
exponents from least to greatest? Explain your answer.

Solution:
You can use the 5-Step Method to solve this problem:

13

IDENTIFY Whatareyou bezng asked.to. ﬁnd7 e e e_

You are bemg asked to determme whether you could have ordered the
diameters from least to greatest by ordering the exponents from least to
greatest, and to explain your answer.

FIND: What do you need to solve the problem?
You need the approximate diameters of the sun, Mars, and Saturn in both forms.

e Sun: 8.6 x 10°, or 860,000 miles
e Mars: 4.2 x 103 or 4,200 miles
e Saturn: 7.2 x 104 or 75,000 miles

CHOOSE: How will you solve the problem?

You can solve this problem by writing the diameter in standard scientific
notation form. Then, compare the diameters.

SOLVE: Solve the problem.

Sun: 8.6 x 10° = 860,000 miles (largest)
Mars: 4.2 x 103 = 4,200 miles (smallest)
Saturn: 7.5 x 10% = 75,000 miles

Yes, you can order the numbers from least to greatest using the exponents
because the decimals have digits in the same place values. The diameter with
the greatest power of 10 will have the greatest value.

CHECK and JUSTIEY: Check and justify your answer.

Check your apswer by comparing the diameters in a table.

©RALLY] EDUCATION. No part of this document may be reproduced without written permission from the publ
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Mathematics: Rehearsing and Exploring the Standards

Independent Practice -

! Write Earth’s, Jupiter’s, and Neptune’s distances from the Sun as a product of a power

of 10 and a decimal with digits in the ones and tenths places. Did you have to count
“the zeros in each number? Explain how this helped you.

In 2020, the Voyager 1 spacecraft is expected to be about 102
the Earth, plus another 3.1 x 109 miles. About how
in 20207 Write your answer in standard form.

as far from the Sun as
far will Voyager 1 be from the Sun

Barnard’s star is about 36 x 1072 miles from the Sun.

Part A Write the distance of Mercury from the Sun as the
and a two-digit whole number. Did countin
your answer? Explain how this helped you.

product of a power of ten
g the number of zeros help you get

Part B About how many times greater is the distance of Barnard’s star from the Sun

than Mercury’s distance from the Sun? Write your answer as a power of 10.

EDUCATION. No part of this document may be reproduced without written permission from the publisher. : 61
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¥ About how many times greater is the Sun’s diameter than Mars’ diameter?

¥ A tennis can confains three balls. Which expressions represent the number of balls
contained in 20 tennis cans, 200 tennis cans, and 2,000 tennis cans?

A 3x2220

1 1
B 20; 3x— 3 x——
3x *20° ° 200

C 3x20; 3x200; 3x2,000
D 3x20; 3x220; 3x2,240

4 A wooden board is 0.8 feet long. Which length is equal to the length of this board? |

A (0.008 x 10) feet
B (8 +100) feet

C (80 + 10) feet

D (0.008 x 100) feet

4 Data recorded in a science experiment includes the value 2.4 x 10%. Which number is
equal to this value?

A 2,450
B 24,000
C 240,000 .
D 245,000

62 ©RALLY! EDUCATION. No part of this document may be reproduced without written permission from the publish'




Mathematics: Rehearsing and Exploring the Standards

Lesson 8

Domain: Number and Operations in Base Ten
Cluster: Understand the place value system.
Standards: Primary § -NBT.3a, 5.NBT.3b

s

~Background ‘Information:

~Manny is making im
“-asafence and a tre
- planks were used t

“thousandth of a meter. The.chart below shows the different sizes Manny bought..

p'rovem‘»eryits to his baékyar‘d.' He plarn‘s‘fo' build many things, 'suc;h:' |
e house. He bought 6 different sizes of scrap wood planks..lSincjev the
0 make ‘spe‘ci'alizyed furniture, they had been measured to the’_'neares"t o

one and eight hundred
twenty-nine thousandths

seventy-six thousandths

1.219 0.229
nine hundred fourteen three hundred eighty-one
thousandths thousandths
N - 4 1
2+96 * 700 * Too 70 * 7000
a1 .. 2438 | 0.152
D 2 4 3 .1 5
1+ 76 *+ 760 *+ Too0 +

70 * 100 * 7,000

ICATION. No part of this document may be reproduced without written peimission from the publisher.
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Modeled instruction‘

Manny used the 4th and 6th longest planks to build the deck. Which planks did he
use? Write their lengths in standard form.

5”‘?1 :

, _stfaz,

' sm’3

4

Solution:
You can use the 5-Step Method to solve this -probrleAm:“ o

IDENTIFY: What are you being asked to find?

You are being asked to find the 4th and 6th largest planks and to write these
lengths in standard form.

FIND: What do you need to solve the problem?
You need the lengths of the planks in the chart.

CHOOSE: How will you solve the problem?

You can solve this problem by converting the length of each plank in the
chart to standard form. Then write the lengths in order from least to greatest
to find the 4th and 6th longest planks.

SOLVE: Solve the problem.

Plank A measures 1.829 meters .
Plank B measures 1.219 meters
Plank C measures 0.914 meters
Plank D measures 2.134 meters
Plank E measures 2.438 meters
Plank F measures 1.524 meters

Plank C < Plank B < Plank F < Plank A < Plank D < Plank E

The 4th longest plank is Plank A, which is 1.829 meters. The 6th longest
plank is Plank E, which is 2.438 meters.

K

©RALLY! EDUCATION. No part of this document may be reproduced without written permission from the pub'“:




Mathematics: Rehearsing and Exploring the Standards

™3 CHECK and JUSTIFY: Check and justify your answer.
)

Check your answer by graphing the length of each plank on 2 number line.
The planks that are the 4th and 6th farthest away from zero are the 4th and
6th longest planks.

C B F A D E
0.914 1.219 1.524 1.829 2134 2.438
e+t et+ 1ot o o | | +>
0 1 2 3
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Independent Practice |

! For a border around the garden, Manny used planks with the 2nd, 4th, and 5th
greatest widths. Which planks did he use? Write these widths in word form in order
from greatest to least.

4 For the tree house, Manny used planks with the 3rd, 4th, and 5th greatest lengths.
Which planks did he use? Write these lengths in expanded form in order from greatest

to least.

21 Flower boxes were built using planks with the 5th and 6th greatest widths. Which

planks were used? Write these lengths in standard form in order from least to greatest.
) .
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Mathematics: Rehearsing and Exploring the Standards

7

§ While working, Manny asked his daughter to get him the first and second longest

planks. Which planks should she get? Write these lengths in word for

m in order from
least to greatest.

§ Before he started working on the gate, Mann

greatest to least. Write in expanded form the
to least.

y ordered the planks by width from
widths of the planks from greatest

E Before he started working on the fence, Manny ordered the planks by length

from least to greatest. Write in standard form the lengths of the planks from
least to greatest.

YUCATION. No part of this document may be reproduced without written permission from the publisher.
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¥ Mathematics: Rehearsing and Exploring the Standards *+ Ei O EE BB

§ The cost of a television was $295.63. What is this cost written in expanded form?

A 2xT10+9xT+5%——46x——+3x—

10 100~ 1,000

B 2x100+9x710+5x—t6x——+3x—

10 10 100

' 1 1
100+9x10+5x1+6x—+3
C 2x + 9 x +5x1+6x 10 +3x 100
10+9%x100+5x1+6x—+3 x—7 -
D 2x +9x100+5x 1.+ x10+v><100

1 A timer can record times to thousandths of a second. Which time is less than ,
19.174 seconds?

A 19.196 seconds
B 19.263 seconds
C 19.303 seconds
D 19.085 seconds

} Pablo is comparing two results in his data for the amount of snowfall last month.
Which sign should be placed in the box to make the relationship true?

610+ 8 x 1(1)0' inches 60.008 inches

O 0O @ >
W VvV A

v
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s ER eoim o 0 Mathematics: Rehearsing and Exploring the Standards

Lesson 9

Domain: Number and Operations in Base Ten
Cluster: Understand the place value system.
Standards: Primary 5.NBT.4; Secondary 5.NBT.6, 5.NBT.7, 5.NBT.3b

Background lnformatlon

: I‘ocal chanty is holdlng a fundralser AII of the money ralsed w:ll be donated to
e chanty « ' : ' o

Modeled Instruction

E Mr. Westerskov makes custom electric guitars. He donates one to be sold at the
fundraiser. He includes 3 custom picks with the guitar. Mr. Westerskov describes all of
~ his picks by their thickness using the table below. He rounds the thlckness to the
‘nearest thousandth. »

Extra Light =0.017

T light T T 00018 t6'0.027
Medium 0.028 to 0.033
Heavy 0.034 t0 0.047
Extra Heavy = 0.048

DUCATION. No part of this document may be reproduced without written permission from the publisher. 69
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Part A What is the description of the pick that came from a factory with a thlckness
~measurement of 0. 01 95-inch?

Solution:
You can use the 5-Step Method to solve this problem:

™1 IDENTIFY: What are you being asked to find?

You are being asked to give the description of the quitar pick with a thickness
of 0.0195 inch. :

"] FIND: What do you need to solve the problem?

You need the table on page 69, which shows the range of thickness for each
type of pick.

3 CHOOSE: How will you:solve the problem?

First, rewrite the numbers in the table so that they have the same number of
decimal places as 0.0195. Then use place value to compare 0.0195 to each
range. This will help you find the range into which this number falls.

™4 SOLVE: Solve the problem.

Extra Light —= 0.0000 — 0.0170 _
Light — 0.0180 - 0.0270 S
Medium — 0.0280 — 0.0330

Heavy —» 0.0340 — 0.0470

Extra Heavy — 0.0480

0.0195 is between 0.0180 and 0.0270, so this is a Light pick.

™8 CHECK and JUSTIFY: Check and justify your answer.

Check your answer by rounding the thickness of the pick to the

nearest thousandth.
/
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e asnearsing and Exploring the Standards
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./
Part B What is the description of the pick that came from 2 factory with a thickness
Measurement of 0.0474 inch? '

Solution:
You can use the 3-Step Method to solve this problem:

1 IDENTIFY: What are you being asked to find?. .
7 You are being asked to give the description of a guitar pick with a thickness
of 0.0474 inch.
"2 FIND: What do you need to solve the problem?

You need the table on page 69, which shows the range of thickness for each
type of pick.

-3 " CHOOSE: How will You solve the problem?
First, round 0.0474 to the nearest thousandth.

Then look at the values in the table to determine which range this number
falls into.

s-»”% - SOLVE: Solve the problem.

A pick that is 0.0474 inch rounds to 0.047 inch. This falls in the range for a
heavy pick. '

-0~ GHECK and JUSTIFY: Check arn justify your answer,

Check your answer by writing the range for a heavy pick in the
ten-thousandths.

Heavy: 0.0340 to 0.0470

0.0474 rounds to a number in this range.
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- Independent Practice

2 The thickness of the guitar strings Mr. Westerskov uses are measured to the nearest
thousandth of an inch. For the donated guitar, he wanted to use a string that
measures between 0.009 inches and 0.012 inches. He had strings available that
measured 0.0083 inches, 0.0112 inches, and 0.0126 inches. If he rounded these to
the nearest hundredth, which string did he use?

i Below is a list of some donated items.

D;nner Package 4 $1 78.010 eac;l
-Electric Guitar (Hand-Made) 1 $599.99
Football (Autographed) 16 $39.89 each
Hotel Stay (Two Nights) v 4 $125.75 each
Television 2 $450.00 each
Theme Park Tickets 1 book of tickets $200.00 .

Part A Six people want to share the cost of the theme park tickets equally. Renee divides
the price by 6 and rounds the result to the nearest hundredth. If each of the six
people pays this amount, will there be enough to buy the tickets? Explain why or
why not. Give a suggestion for how the 6 people could share the cost.
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- B 4}‘
Part B Mrs. Stanton buys 12 footballs. She writes a check for an amount rounded to

the nearest tenth. How miuch more does Mrs. Stanton pay'than the total cost
of the footballs?

Part C Seven 'people split the cost of 1 dinner package. Each of the 7 people paid the
same amount. If each person’s cost was rounded to the nearest hundredth,
how much more was paid than the purchase price?
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3 There were 4,863 people at a music concert. The music concert auditorium is divided
-into different sections-of seating. Each section-can hold 55 people.-How many sections
-are needed to hold all 4,863 people?

A 87 sections
B 88 sections

b C 89 sections

Rl "D 90 sections

| Aaron wants to find the average amount of time it takes him to run 1 mile.
He recorded the time it took him to run 1 mile the last five days.

T 1 7.45
2 7.98
. 3 7.01
3 4 8.16

5 7.56

Aaron will find the average amount of time by finding the sum of the times and then
dividing by the number of times he recorded in the chart. What was the average amount
of time it took him to run 1 mile rounded to the nearest hundredth of a minutev

A 7.32 minutes
B 7.56 minutes
€ 7.63 minutes
D 7.98 minutes
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